BERMTE 18

B B £ F106405 526 6 BEV—YARHYY =557
Bz K #& A B |OUT| IN| GR| HDCP | NET | %= |[IER] B 4% A B |OUT| IN| GR | HDCP | NET | f&%
1|k $ats 40 | 36 | 76 | 9.0 | 67.0 |F:E& || 51 |EiE H—mm 44| 51| 95 | 15.2 | 79.8
2 Ak HE 37| 36 | 73| 58| 67.2 |FEE& || 52 (&) #E#® 43 | 43| 86 | 6.1 79.9
3 |HE HA 41| 42| 83| 158 | 67.2 |F@& || 53 [#F %2 42 | 49 | 91 | 10.2 | 80.8
4 |EmE =9 30| 38| 77| 9.7 67.3 |F®EB || 54 |sh¥ 1A 48 | 51| 99 | 17.8 | 81.2
5 IR %E 40 | 38 | 78 | 8.5 | 69.5 |F:E& || 55 |k HE—ER 48 | 43| 91| 9.5/ 81.5
6 BB B= 38 | 37| 75| 5.4 69.6 |F&EE || 56 [FE RFEE 42 | 44| 86 | 3.3 | 82.7
7 |EM &=A 42 | 41| 83| 121|709 |F@E& || 57 |H@E =M 44| 26 | 90 | 7.3 82.7
8 &% gk 41| 44| 85| 13.8 | 71.2 |$@&& || 58 |F@E Ef 48 | 49 | 97 | 13.4 | 83.6
0 |{kRE HEB 39| 40 | 79| 7.7 71.3 |F@EB || 59 O Ex 46 | 49 | 95 | 10.4 | 84.6
10 |5 BT 37| 43| 80| 8.4 | 7.6 |FmEB || 60 |HE @ 43 | 55| 98 | 12.5 | 85.5
11 BB AS 41| 43| 84 | 11.7| 72.3 |$2&B || 61 |k =@ 43| 51| 94| 7.8 86.2
12 [RE % 38| 38| 76| 3.1 729 |T&E& || 62 EE A 47 | 55 102 | 14.0 | 88.0
13 kil &7 41| 40 | 81| 81| 729 |$&&B || 63 |3 #% 44 | 55 | 99 | 0.0 | 99.0
14 BHE Ex 40 | 44| 84| 10.7 | 73.3 | BB EB

15 |25 W7 42 | 42| 84| 10.6 | 73.4 | FEEB E3:: R 41| 34| 75| 50 70.0 |EHe
16 |&54 =& 39 | 49 | 88 | 14.6 | 73.4 | FEEB

17 = B# 40 | 42| 82| 8.3 73.7

18 | {EALR 47| 40 | 87 | 13.2 | 73.8

19 |#% #B 43| 37| 80 | 6.0 74.0

20 @k H= 36 | 42| 78| 4.0 | 74.0

21 |l EM 37| 39| 76| 1.7 74.3

22 WE Bk 47 | 43| 90 | 15.5 | 74.5

23 =% £ 40 | 45 | 85 | 10.2 | 74.8

24 WE E— 40 | 40 | 80 | 4.8 | 75.2

25 5% A& 47| 38 | 85| 9.6 | 75.4

26 INE B 40 | 41| 81| 56| 75.4

27 WE e 40 | 44| 84| 8.3 | 75.7

28 \EmH LB 44| 39 | 83| 7.2 75.8

29 BR BE 44| 41| 85| 9.1 75.9

30 MiE 2 46 | 40 | 86 | 9.9 | 76.1

31 |K# SER 44| 41| 85| 8.6 | 76.4

32 HA S5 40 | 42| 82| 5.6 | 76.4

33 EE s 45 | 44| 89 | 12.5 | 76.5

3 BwLU BH 42 | 45 | 87| 10.4 | 76.6

35 |FUE  FIR 46 | 42 | 88 | 11.3 | 76.7

3 Mt E= 42 | 44| 86| 9.2 | 76.8

37 =& ®w= 48 | 44| 92 | 15.0 | 77.0

38 ER %E 41| 44| 85| 8.0 77.0

39 =H B 41| 50 | 91| 14.0 | 77.0

40 R EBmE 46 | 41| 87| 9.8 | 77.2

A P 41| 45 | 86 | 8.8 | 77.2

4 B —% M| 4] 82| 46| 77.4

43 &F 0’ 45 | 46 | 91 | 12.9 | 78.1

4 EHE =K 45 | 44| 89 | 10.4 | 78.6

45 @A L& 46 | 43 | 89 | 10.1 | 78.9

46 mh = 44 | 44| 88| 9.1 | 78.9

47 KWL BIE 42 | 44| 86| 6.9 | 79.1

48 HE f2 45 | 45 | 90 | 10.8 | 79.2

49 |ETEE A 41| 44| 85| 54| 79.6

50 | R 44| 43| 87| 1.2 79.8
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